BEBHBAMBER R6.10.85

1-k An £ meE Effiig| —ARER | X B | BT
120|17-1 {EBHEEEEHEETLAE I (AXR) 1,980 2,200] s kgt | R6.7.29
121]20-1 (EEHFEEEEZTEHAI 1 5EH) 1,580 1,760] smul &5 R5.11.10

B 122|131 {EBHEEEEETEAI 25 %) 1,580 1,760] 5. ks | R4.12.21
12319215 B EEEEEERA T (B3ELRE) 1,580 1,760] st | R5.11.20
124|131 IEBHBEEFTEBEELAL A5 £ 1,580 1,760] smy1 x| R6.8.29
102]14-1 B EBRESBEETHA 1,870 1,980] sl gms| R6.4.11

103| £ 5ThR29RI ZEEExHE 2,090 2,310] 2mui £ 4| R5.7.1

|| 104|221 Z(EEBERAE 2,090 2,310] smul k& | R6.9.30

105|6-2:THR RfZERRAEE (&hd) 2,871 3,190 =y R5.2.1
106|FERFIETIR ThhYPT LVERIGEENREE S | 693 770 4l b @ | 52468
108]2-1 &# ZHEEZHOMER 5,447 5762 my H20.9.25

109|157 F R =B BRARBERE L 3,861 4,290 b3 R6.9.1

Al 110[195ThR2RI B RE 3 @AM SR 4,851 5390 =y R6.5.15
11| SH2FREFRE N 4,356 4840 & R2.7.10
112|£EHMNEZ P EHEEQEA 660 1,100] smpl | H28.4.1
114)1-2 2 &% & fif 830 1,047 sl @] H16.5.6

115 ERE R REY=17 )L (EEThR) 2,376 2,640| 2mui £ | R5.11.10

Sl 116|1-2 ERMES i 1,100 1,361 sl b ms| H26.3.22
8| ZHEICETDNE ARG/ N Ty 1,270 1,980] sl k| H28.4.15

125|2RET20R 15/ EHRARRDOF5IE 1,584 1,760] 2/l E @4 | R6.3.1
126|65ThR BrEEtRE EH8E 0 1,188 1,320] smuL x| H29.7.10
128A18-4 EAXREAEEHBIEV\ETHAR) ezt 5,500 7,480 sm il kg5t | R4.10.26
132A]40 Z{HEEEFREAREZHCD-ROM Ver40 2,860 3,520 st Ly | R4.10.26
131]1-1 EAKBEHRIRIFI0EH 1,100 1,320] sl &5t | H20.8.29
230]16-1 IEER B EEEEEEERRE 1,870 2,090] smu £ ] R5.11.29
23112-1 R ELFEEAMBEEONSER) 1,650 1,870] sl | R5.11.20

S| 23213-1 EELEEEEHELECEED 1,650 1,870|smui@s| R6.6.6
233|6-1 IEEHBEETEMNBECSER 1,650 1,870] smuL k45| R4.10.26

A 234|6-1 EBHBEEEEBEEUSER 1,650 1,870] sl @ | R2.11.25
235|2-1 EEEDIEEZBA-ODHEIGEDER 1,980 2,200] sl b g | H22.4.6

bl 236|2-1 BREEIZKRDONDIVTITVAER 1,980 2,200] smul by | H22.4.6
2371-1 EX 2T oYLV NEDRIEE 2,300 2,640] sl kg |H23.12.13

7| 24011 ZEHEDT-HDEEMEA) 2,720 3,300] et £ | H25.1.29
2411-1 B{E 8 D 1-H DS T(DVD) 3,820 5,500] 6l kg4 | H25.1.29

Ul 242111 BHEDT=HDEEM (V) 6,279 8,800]3tyh11 kg H25.1.29
238|2-1 HRETHA HBREREB2HR(EZR) 1,560 1,905] smuL k45| R3.6.28

Tl 239|5-1 MBE R LR 2RIEHMEE00R) 1,540 1,980] smu1 x| R6.9.18
24941 HREBEBOF IR 2,200 2,409 sl g | H30.1.31
U 250)5-1 MBEEREBDOFEI(LHK) 2,300 2,514 sl g |RIT.12.24
251|12-1 S E R EFE2RIEEERIRELE(200R) 2,640 3,080] sl kg | R5.7.20
252071 MR E751 MRASHERIRE S (20079) 2,640 3,080 smui Ly | R6.4.17
253|141 B EHEHARELRLER) FiTR 1,980 2,200] sl b gEst| R4.3.3
254]7-1 Z{EEHEHAR (KB MR FElhR 2,090 2,200] smu L& | R7T9.17

Y| 255[10-1 BEEHEFHARGERE) TR 2,090 2,200] sl EgEst| R6.8.5
Ul 256|1-1 ZiEEHEBACERR) TR 2,090 2,200 sl by | H18.7.7

| 257|2-1 ZREEZEHAGEME) TR 2,090 2,200] sl b g R2.4.1
258|1-1 shEMEEFE 1,930 2,095 sl g | H13.1.31




I-F & g2 N B (s ] —haimie | = 3 | 5o
259|2-1 EEMBEBE 1,980 2,200] sl kgt | H28.4.15
260|3-1 ERMXBAEEMES 1,930 2,095| sl by | R6.6.12

Y 261|6-1 W EEEEEMBEE REEMT) 2,200 2,420|smui L&y | RA415
Ul 262|1-145Ab T s TRAED S KBS, SN0 500 880| s 1 kg | H27.8.20
|  263|4-1 EE & - RELERR 1 SRAS BRI RE S (250R) 2,640 3,080] sk gst| H31.3.5
264|8-1 BB R - B ELERR 2 RIE B RIREE (2509) 2,640 3,080 st kg | H30.1.31
265]1-1 $FRIETHA SELEMRE MR (EZR) 1,560 1,905] sl bms | H31.2.27
266]3-1 & B MBI E i 2 A= HE R RE £ (100R9) 1,540 1,980] sl &5t | R3.10.26
200]12-1 REFELHEEBFOF5IEIHR) 2,090 2,409 | smul k| R3.4.20
201)5-1 RBFEEHEBOFEI(LER 1,991 2,200] sl £ gst| R5.1.21
Al 215)19-1 RBFEEHEF 2 RIEEIRIRELE (200R9) 2,640 3,080] sl gt | R5.12.22
X| 20503-1 RBFHEHEB RS ERIEE00/) 1,540 1,980 smyl x| R5.9.21
B 204)7-1 ZBFEEHER 1 RIEEERIREE(00R]) 2,640 3,080] smu L ms| R5.4.18
Bl 202)13-1 MEERZHEFDF5I(HHR) 2,400 2,619 sl kg R6.4.17
Rl 203|8-1 MERZHEFDOFEI(LH) 2,400 2,619]smul &y | R3.4.20
214]15-1 MEERZ (G £ 752 MR G 5 RIRESE (200R5) 2,640 3,080] sm i L] R3.10.26
207|6-2 FEER B XS MR BRI (100R8) 1,540 1,980] sm il @yt | R6.10.17
208|10-1 HEE%Z i £ 75 1 fRAE SRR RELE(200R9) 2,640 3,080] sl gst| R6.5.21
209)12-1 Zig 8 (B6¥) 1,540 1,650] nimurms| R6.4.11
210|5-1 HAIBETHA X BFELHEB2REZR) 1,560 1,905] smul x| R6.9.24
211]3-1 IFRIEESA HREREF2REER) 1,560 1,905 smel by | R4.4.27
280)2- 11 EHEEGREER) HA I (EXR) 1,320 0] == H24.8.8
281[3- 1 EHFHGEEER AL 1 BEH) 1,320 O] == R2.8.20
282|2-1{EHFHEGEEER AL 25X 1,320 0] == H24.8.8
283|311 EEEEGEEER AL (3E£H) 1,320 0] == R3.2.22
28431 EHFHEGEEERBAL USEH) 1,320 0] == R2.8.20
285| ML HEHED T 620 838| s i ks | H18.9.20
3| 286|HMEZHREHFOFSI 1,980 2,200] sm ek gmx |H18.10.30
287|2- 1 RREHEHDFSI 1,100 1,320] sl k| H26.11.7
289|2- 1R BFELEREFDOF 1,540 1,760] st myt| H26.3.22
201| BB EHEHKD TS 1,760 1,980] smyl &g H19.7.3
TE]  279|2- 1SR EREHFDOFSI 1,980 2,200] sm ka4 | H26.5.24
288|3-1 EHIMEIZ LS EBIMREMER 1,980 2,200] sl kg | H29.7.18
293|12-4 Z{EEEDME (125T4HR) 3,030 3,300] smui ks | R5.8.10
423| Z 1 F iR 940 1,100 =& |H20.11.1
&l 424|ZHFE HBAN E-HRIHK) 100fLLE 11,0000 11,000 = =z -
425\ ZHFR B AN (RXFERIK) 100fLLE 5,500 5500 = =& -
537|1-1THIRHIREESE) fMF 1,040 1,152 sl kg |H21.12.16
5391-11/ME - KIBIRIEESEl MF 1,150 1,257 sl ks |H22.11.25
Bl 540|ZHEEB0E bHYOTUFEE 2,514 2,860 sl kgt | H24.12.3
541|5-1 £Xa T4 T F—BBHEKRIFE1E] 5,700 5,940] smu + &4 | R3.10.26
54215-1 X2 T4 TS50 F—HEBHAR[FE2%] 2,400 2,420] sl kgt | R3.10.26
538|4-1 tXa T4 TS5 r—EERIEE 2,300 2,640] smul by | R5.6.24
55003-1 X ayF4- A Y LA BB HAR[E15] 5,230 5,940| smu + & | R7T.10.1
551|3-1 £F T4 oY LA METHAR[FE25] 3,030 3,080 s g | R7T.10.1
03| EmEmiEEE 870 1,100] smul byt | H28.7.27
304|F—0—KRI(F (7102 74—hA) 1,320 1,650]21/m 1 E x| H9.10.13
2] 309|+tFaYF <=7 ILNo.1 1,100 1,320] smul i ]| S61.2.20
310|£¥ 1Y T4 =217 J)LNo.2 1,310 1,540] sl s | H3T.3.10
2 311|tEFaUT4-<=27I)LNo3 2,300 2,409] sl b | H9.6.17
312|€X2YT4- =217 )LNo4 2,300 2,409 sl b g H7.4.1
t  313|zFaYT4-T=37INo5 2,510 2,619 st g |H12.12.20




I-F & g2 N B (s ] —haimie | = 3 | 5o
403|ZH & 4 ERAMK (3o tvh) 580 660] = =
405|tF 2T 424 L ( A8) 800 800] = =&
407|2H ) T484 L (R5.11 B K 4EES) 1,600 1,600] = & R5.11
409| LX) T84 L (1 RS 10,000 10,000] szma
M8|RE-RDEHEDERICHITTGHXE) 4290 4730 = & H22.4.6
421|security eye 55 660 770 E & H20.3.20
2| 422|SECURITY HANDBOOK 280 330] =& |H25.11.1
431 |BHNEAR U R E/—h 550 1,100] 1me215m |H26.11.12
A |EXaYTAAA LR T — 1,570 1,885 = &
M4 rHo84EV (3B) B 1,280 1,602 = =
M3|rH84EV (£F) &HEH 1,280 1,602] = &
45| o846V (BR) &R 1,280 1602 = =
MNT| 9846V (&) &R 1,600 1,923] = &
432|584 (£)2015 1,540 22000 = =& H27. 5
| 433|492/ E (8R)2015 1,540 22000 = =& H27. 5
426]txa2T4-T5F—1\wT (SP) 1,250 1430 = =
27| F 2T HILEURNYD (SC) 1,250 1430 = =&
428|E >y AJSSA (70-) 520 880 = =
429|E > 8y AJSSA (5Y-Y) 520 880] = =
430|E /3y AJSSA (1Y) 520 880] = =
435X aYT4- TS5 F—L—IL1Y—P504R (581 Uh) 1,100 1,100] = =&
436 AR H—T(IV )-)) RAE— 610 770 = & H28. 5
37| AR HA—TRVI-N) SARTIL— 610 770 = = H28. 5
#  438|AERA—TEVI-L) By 610 770 = & H28. 5
439 ABRH—D(RYI-1) EF 610 770 = = H28. 5
40| AR H—TRV9-1) 4 5004 LLE 590 7148 = = H28. 6
AN |ABERH—T(IVH-I) 48 10004 LU E 580 738 = & H28. 6
4422 X 1) F - aUH LB — L1 P50 (BTt Vk) 1,100 1,100 = &
244|9Y)yF<v—Hh— 990 1,320 = =& H25.6.7
245|591 ) — = —h—F7574}F) 770 990 = =& H25.6.7
246|5)—2—HhH—(7 ) 770 990| = = H25.6.7
2475 )—o=—h—(1Y) 770 990 = =& H25.6.7
248|457 )— v —h—(FLYY) 770 990 = = H25.6.7
245-1 |9y T - v—h—t Y @E7HI4}E) 1,650 22000 = =& H25.6.7
246-1 |9y 7 -v—h—tyNT I-) 1,650 2200 = = H25.6.7
247-1 |9y T -v—h—tyhIvy) 1,650 22000 = =& H25.6.7
248-1 |9y T - =—h—tyrHLYY) 1,650 22000 == H25.6.7
544|R & LIEEDVD £6%& 100,569| 149496] = u
544-1|R £ LIE8EDVD (B 1%) 17,809] 31,953 &=
E| 544-2| % £ LIE3EDVD (F2%) 17,809] 31,953 = u
544-3| =R £ LIE8EDVD (5E3%) 17,809] 31,953 &=
M| 544-4|R £ LIEEDVD (F4%) 17,809] 31,953 = u
544-5|% £ L{E3EDVD (E5%) 20,952 37,296] = u
544-6|% &£ LIEFEDVD (£6%) 20,952 37,296] &
507| S 2 EBEDVDR 2% 29333 47980| =
507-1|#Sn 2B EDVD (F15) 24029] 26,609] = u
507-2|#iIFSN 5 ZEEDVD (F2%) 24029 26,609] = u
545 BUYE TV RE3—3F 2 E M ALHT IDVD (1%) 9,428] 14,300 = =




I-F & g2 N B (s ] —haimie | = 3 | 5o
5023 @FEZ B 1#DVD 6% 90,776] 117476] =
502-1|Z BB EZ B 1#HDOVD (F15) 18,155] 21,359| —#z600m
7| 502-2| R BFEEm14KDVD (5F2%) 18,155 21,359]| —#600m
JY 502-3| XK BB EEH 1 DVD (5E34) 18,155] 21,359| —#=600m
A| 502-4|RBFEEH1HKDVD (E4%E) 18,155 21,359]| —#600m
502-5| K BEFEZHE 1 #DVD (5E54) 18,155] 21,359| —#z600m
502-6| 3@ EEZ 1 HDVD ($6%) 18,155 21,359| —#z600m
522|HEHEKEDVD 264 129,904 162,380 & #
522-1|#HEHEHKBEDVD (F1%) 27,238 34571 = u
522-2|HEBELKEDVD (F2%) 27,238] 34571 = u
522-3|HEHELKBEDVD (FE3%) 27,238 34571 = u
| 522-4|H LR EKBEDVD (F4%) 27,238] 34571 = u
522-5|HEREBKFDVD (E5%) 27238] 34571 &=
522-6| T ZHELKEDVD (E6%) 27,238] 34571 = u
523-1|ZBFEZ R EFE2MEDVD (F15) 5 R 20,952 27,238] = u
2| 523-2| R BFEEHEH2MOVD (FE2%) RER 20,952 27,238] = u
5241 BN Z B ZEFF24RDVD (5 15) EHiRE 20,952 27238] = 3
524-2| 3 A £ 7524RDVD (F25) ER R 20,952 27,238] = u
525-1 e ZHEFF2MDVD (F15) 2R 20,952 27238] = 3
525-2| sk L £ 75 24RDVD (F2%) 2R R 20,952 27238] = u
5261 E (£ 7524k 5B R IDVD (1%) ER#R 20,952 27,238] = u
528|I %I A2 /EZEFEIDVD (£ 14) 16,761] 20,428| = %
3| 530|2-1 Bt 2R ERBERELKEDVD (2 15) FRHE 15,4001 22,000] 4%<a40m |R4.3.24~
TE| 532|2-1 Bt o E AR EBEKEDVD (£15) ¥ 1R 15,4001 22,000 as%<ca40m | R4.6.1~
E| 5341 Bt RRERRERELEDVD(215) ¥R 15,400] 22,000| 4s%<ca40m R4.12.16~
B| 536|2-1Bit R EERELE - £ BHEDOVD (215) ¥HE 13,200] 19,800] 2#%c440m |R3.7.19~
553|F 1! F 1 a2 H LA FDVD(E 1) 1,881 3,300] asxcas0m | H24.7.6
2| 54611 BFEEHER1H/OVD (215 ERR 17,600] 22,000] s%ca30m | H23.4~
B 54T B EHER1HBOVD (215 ERR 17,6001 22,000] 4#<430m | H23.4~
W 548|2-3MEER LR EH 14ADVD (£145) KETHR ERR 17,600 22,000] s%ca30m | R5.1~
549|1-1 2 £ 75 BMR1MOVD (£15) B 17,600 22,000] s#ca30m | H23.4~
K| 600]|z@ /& SHSEMR 4,356 4840] & u |R5.12.15
54
700) 5 BHRE SHI6ERR 8,514 9,460 440 R5.12.15
F| 705|65mEFFERBENI-ONDAE - ELFIE 1,782 1,980 330 H25.6.20
107 |EEBTEE SRR BRIEEGEE150R) 1,980 2,200 165 H28.4.10
T108|FETEESBAENBEE (F78) 1,980 2,200 165 H27.6.30
B 709|N\SRAVN —BISERIET HLD— 1,485 1,650 165 H31.4.25
TO|SSERES VY RE 1S 14,850] 16,500 330 R5.8.25
T SHSERES LY RE2E 14,850 16,500 330 R5.8.25
E 12|sHMsERESEUYRESE 15,840 17,600 330 R5.8.25
3| SHSERER LY RELIE 12,870 14,300 330 R5.8.25
M4|70BMEBROER -S2%E 1,980 2,200 165 R3.11.25
S| 716|SH6ER HERBFHLZRYRE—/—F 3,168 3,520 330 R6.5.15
M| SH6ERR T8 - 1t SRRE L8/ —+ 1,980 2,200 165 R6.5.15
T18|RIE/ S\— 3 A LF X DEER 1,188 1,320 165 H27.3
To|EHBINSHZEIESHE KR-5H-BE 1,980 2,200 165 R5.3.20
T3 BEFLDOLLENVEIER 1,980 2,200 165 H21.2.20
800| B EEERLE (£15) 18,810 20,900| zxms | M=




1-F & % INEE B fmis] —heimis | = 5 BT
801|& B iR 883X 8% (R6.4 B BT 2 UNER) F 32K 1,584 1,760] 13308 | R6.5
803ME N IEHRIRE/ NV RF T Vo) 10,890 12,100] sms | mig=xk

Z| 804| HEBHRERE - RIL/N\VET oK) 11,880] 13,200] s | M=
21| A A EBHRONBEANERAAFGEXE:1~4988) 501 501| #p=#E | R6.1.12
822\ AMFEBHRONEAERAAFCEER: 50~299%0) 400 400] stmms | R6.1.12
82| \H T BHR DS EAERA A RGEXER: 300881 1) 300 300] szgsms | R6.1.12

M| 805|IKDRAYE BEEMITIR (MBEFEXS) 31,428 - - -
806|[KDRAYE EERNR (REMNEXS) - 52,380 - -
807|r B R— LAR—CBASRY —E R 107,800] 129,800 - -
808| M EHPHR- EEERI2EENH 66,000] 66,000 - -

) 813|GERIABAXAFAEH(E10kR) 4851 5,390 1#a60m | R5.4.1
814|EEE Re-BERTYNIYY 217 242 sz |H28.10.31
816| HMAELARI AAXERDEZH IDK AU+ &S 2,772 3,080] 1#410m | R4.7
817|(ETHR) A ERRDE & &l 3,465 3,850] 1#460m | R5.6.1
818|thisitt R DREKITE HHEBERMEOEU 3,168 3,520] 1#pa10Mm | R5.10.30
820|E B H5I- EMBERRGULERYSYMRESE 1,833 2037] =% |H283.11
830 7 A Z/N—F R (FAANY)3MBLF) RAE—(S) 6,900 7,920 /% 8 ffits 1 5 AL e
831|742\ —% 2 (74219 13@ ) RAE—(M/L) 6,900  7,920|mmamsi smm s ms)
832|742/ \—H# 2 (742130 FAE—(LL/3L) 6,900  7,920|mzmemii srmo s ms)

| 833|742 N—F2 PN YIER) FAE—(XL) 6,900  7,920|mmamsi smm s ms)
83474 2\ —HRZ (FAANYIERH) TIL—(S) 6,900]  7,920|mmamsi st ms|

W 835|7ARN—RR(FAANYI3E) T IL—(M/L) 6,900 7,920 mzm s @i 5 Es
836|742/ \—F 2 (742N v)3MEH) T IL—(LL/3L) 6,900  7,920|mzmemii srmo s ms)

|  837|FaRNA—FZ (FAAN9H3EED) T L — (XD 6,900  7,920|mmamsi smm s ms)
83874 2/ —R X (742N Y934 TL—(S) 6,900]  7,920|mmamsi st ms|

#l 830|742 N—RZ (FAAN YA T L—(M/L) 6,900  7,920|mmamsi smm L ms)
840| 7 A Z/N—F R (FAANy)3ME ) &' L—(LL/3L) 6,900 7,920 8 @1 5 m
84| 7 A RN—R R (FAANY)3MEF) F'L—(XL) 6,900 7,920 mz s @i 5 Es
8427 4 2N —%Z (FAANYI3EL) TS (S) 6,900]  7,920|mmamsi st ms|
843|742 —% 2 (742N 9 3B ) TS (M/L) 6,900]  7,920|mzmammi sm Lt me)
844| 7 A RN—R R (FAANY)3MBEF) TS5 v (LL/3L) 6,900 7,920 |mez & i 1 5 ]
845| 7 A Z/N—R R (FAANY)3MEF) TS5 (XL) 6,900 7,920|mzm s @i 5 E
846zimm7 4 R/ 8y (3EEYF) 1,300  1,885|mmamisimmurms|
sa7lmB RSy T 500 660|mz & misi 5mLLEE
848| 7 A RN—F R (FAANy)3{E 1) 30058 L E 6,875 7,920 H
849| AT A R/ 3y (3fE £y k) 300y kA £ 1,155 1,885 e
850|NEWFAAN—%R1=74—L (B FISE ) RAE—(7-) 7,500 9,020 |mza & ffiss 175 F L )
851|NEW74AN—%R1274—L (R AFISE ) KT A+ (7Y-) 7,500 9,020 |1 & s 175 m k)
410|AJSSA ST 774 IL(Fx795—11) 100 102] = = R3.4
450|AJSSA T v (#if2) M 1,320 1,324] = & H30.5
451]AJSSA T (fif) L 1,320 1324 = =& H30.5
452]AJSSA T (Hitf) LL 1,320 1324 = & H30.5

2| 453|AJSSA T4 (Hifs) 3L 1,450 1,900 = = H30.5
454]AJSSA T4 (Hfifs) 4L 1,450 1,500] = # H30.5
455|AJSSA REUE U ROL Y (fE) M 1,730 1,733 = & H30.5

2]  456|AJSSA RELA RO Y (HiHE) L 1,730 1,733] = # H30.5
457|AJSSA REUE RO Y (#i) LL 1,730 1,733 = & H30.5
458|AJSSA RELE RO Y (FHfR) 3L 2,101 2200 = =& H30.5

W 459|AJSSA RALAHUROL Y (Hif) 4L 2,101 22000 = =& H30.5
460JAJSSA R— LR 2E- —T R (7HOK - )b) 540 550 = = RJT.6
420|AJSSA Fry T (Ayv-Ayva) #4RLL /3L 2,860 3,080 = = R5.8.1
434|AJSSA R ANSYT 610 612] = =% H29. 7

OHHLRAHDIR, G MBEFLHTIEX TS,

SM64E10 A8 HIRIE(10%FA)



T3] & g2 [z & flre] —feimis | % & |50
IEEEEE - WIRE SN Y i
BEREEEEERE VDI E~4D) 1,360 1,360 = =
HHEREBEESE v 1,360] 1360] ==

OWEEBY D ETIEE - WM/ NNy DIBUATIXHFENLET,

SM6E10 A8 HIRAE(10%FA)

BEN Y iR

- RS MR- B ES BIRE R 1,320]  1,320] = =
B R B BRI 2E A 1,050] 1,050 = =
OREN Y D EXIIZ B PR EE~BRELLET , SHI6% 10 A8 B B (10%F53A)




